SCRAPIE FLOCK CERTIFICATION, ANIMAL IDENTIFICATION, AND INDEMNIFICATION PROCEDURES

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0579-0101

(K)Total/(I)Total = (J)Average

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
54.2	Cooperative Agreement Grant Forms: Application for Federal Assistance (State) - covered under 4040-0043	SF 424	37	1.00	37.00	0.75	28			
	Not for profit		2	1.00	2.00	0.75	2			
	Cooperative Agreement /Grant Forms - Budget Information (State) - covered under 4040-0044	SF 424A	37	1.00	37.00	3.00	111			
	Not for profit		2	1.00	2.00	3.00	6			
54.2	Cooperative Agreement /Grant Forms - Assurances - Non-Construction Program (State) - covered under 4040-0040	SF 424B	37	1.00	37.00	0.25	9			
	Not for profit		2	1.00	2.00	0.25	1			
54.2	Cooperative Agreement /Grant Forms - Disclosure of Lobbying Activities (State) - covered under 0348-0046	SF LLL	37	1.00	37.00	0.50	19			
	Not for profit		2	1.00	2.00	0.50	1			
	Cooperative Agreement/Federal Financial Report (State) - covered under 0348-0061	SF 425	37	4.00	148.00	0.50	74			
	Not for profit		2	1.00	2.00	0.50	1			
	SUBTOTAL		195		306		251	0.00		0.00
	TOTAL OF ALL PAGES		115,387		390,058.00		153,518	347,414.00		743,262.00

SUMMARY OF INFORMATION COLLECTION

APHIS FORM 71

SUMMARY OF INFORMATION COLLECTION

USDA-APHIS

SCRAPIE FLOCK CERTIFICATION, ANIMAL IDENTIFICATION, AND INDEMNIFICATION PROCEDURES

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0579-0101

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years,

DATE PREPARED

list as "1/6" & decimal will display.

IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		•			ANNUAI	_ BURDEN			
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)
54.3 (b)	Request for Information: Record of Animal Moved (Business)	VS 5-18, 5- 18A, or equivelant records	1,730	1.00	1,730.00	0.25	433	V	· ·	0.00
	State		20	2.00	40.00	0.25	10			0.00
54.3 (b)	Individual Animal Report (Business)	VS 5-20 or equivelant reocrd	1,730	1.00	1,730.00	1.00	1730			0.00
	State		20	2.00	40.00	1.00	40			0.00
54.3 (b) and 54.8 (f)	Flock Inspection and Epidemiology Report and Scrapie Epidemiology Report (Business)	VS 5-19D or VS 5-19	467	1.00	467.00	5.50	2569			0.00
	State		30	2.00	60.00	5.50	330			0.00
54.4(a)		VS 1-23, 1-23A	75	1.00	75.00	1.00	75			0.00
	State		1	1.00	1.00	1.00	1			0.00
54.5	Written Agreement Certification (signature only) (Business)		50	1.00	50.00	0.25	13			0.00
54.6	Proceeds from Animals Sold for Slaughter (Business)	VS 1-24	1	1.00	1.00	0.25	1			0.00

CUDTOTAL	4.1		4 194 00	F 200 F0	0.00	0.00
SUBTOTAL	4,1	24.00	4,194.00	5,200.50	0.00	0.00

SUMMARY OF INFORMATION COLLECTION

APHIS FORM 71

SUMMARY OF INFORMATION COLLECTION

USDA-APHIS

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

SCRAPIE FLOCK CERTIFICATION, ANIMAL IDENTIFICATION, AND INDEMNIFICATION PROCEDURES

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0579-0101

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years,

DATE PREPARED

list as "1/6" & decimal will display.

IDENTIFI	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN			
					REPORTS		RECORDS			
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
54.8	Flock Plan (signature only) and Recordkeeping (Business)		25	1.00	25.00			25	10.00	
	State		5	1.00	5.00	1.00	5			0
54.8	Post Exposure Management and Monitoring Plan and Recordkeeping (signature only) (Business)		35	1.00	35.00	1.00	35	660	10.00	6,600
	State		7	1.00	7.00	1.00	7			0.00
54.8 (e)	Report Suspect Animals (Business)		355	1.00	355.00	0.17	60			0
	State		30	4.00	120.00	0.17	20			0
54.8 (g)	Scrapie PEMMP Inspection Report and Recordkeeping (Business)	VS 5-19C	660	1.00	660.00	0.17	112	660	5.00	3300
	State		30	2.00	60.00	0.17	10			0
54.11 (a) (8)		VS 5-29, VS 5-29A	273	3.00	819.00	2.00	1,638			0
	State		20	4.00	80.00	2.00	160			
	SUBTOTAL		1,440.00		2,166.00		2,073	1,345		10,150.00

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

SCRAPIE FLOCK CERTIFICATION, ANIMAL IDENTIFICATION, AND INDEMNIFICATION PROCEDURES

**ОМВ NO.** 0579-0101

DATE PREPARED

March 28, 2011

USDA-APHIS

IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN			
				REPORTS						
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
54.11(a)(8)	Specimen Submission (Business)	VS 10-4	1,160	3.00	3,480.00	1.00	3,480			
	State		20	190.00	3,800.00	1.00	3,800			
54.11(b)	Request for Laboratory Approval (State)		1	1.00	1.00	2.00	2			
54.11(b)	Agreement to Conduct Examination (Signature only) (State)	VS 5-21	1	1.00	1.00	0.10	1			0
54.21	Application for the SFCP Program (Business)	VS 5-22	75	1.00	75.00	0.16	12			0
54.21	Flock Inspection and Epidemiology Report Initial Flock Inspection for Complete or Export Monitored Status in the SFCP and Recordkeeping (Business)	VS 5-19A	75	1.00	75.00	2.00	150	250	10.00	2,500
	State		4	4.00	16.00	2.00	32			0
54.21	Flock Inspection Report Annual Inspection Report for Scrapie Flock Certificate Program Enrolled or Certified Flocks and Recordkeeping (Business)	VS 5-19B	1,730	1.00	1,730.00	1.00	1,730	1,730	10.00	17,300.00
	State		20	10.00	200.00	1.00	200			0
79.2(a)	Owner Statement (Business)		45,000	4.00	180,000.00	0.08	14,400			

SUBTOTAL	48,086.00	189,378.00	23,807	1,980		19800
----------	-----------	------------	--------	-------	--	-------

SUMMARY OF INFORMATION COLLECTION

APHIS FORM 71

SUMMARY OF INFORMATION COLLECTION

USDA-APHIS

SCRAPIE FLOCK CERTIFICATION, ANIMAL IDENTIFICATION, AND INDEMNIFICATION PROCEDURES

TITLE OF INFORMATION COLLECTION DOCUMENT

**ОМВ NO.** 0579-0101

DATE PREPARED

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \\$ 

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

										11 20, 2011
IDENTIFI	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT									
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
79.2(a)	Agreement to Use Blue Tags (Business) (New)		50	1.00	50.00	0.25	13			
	State		50	1.00	50.00	0.16	8			
79.3(a)	Report for Consignments when Identification is Applied (Business) (New)		100	26.00	2,600.00	0.30	780			
79.2(d)	Recordkeeping, Animals Moved in Interstate Commerce (Business)				0.00		0	172,000	3.00	516,000
79.2(f)	Request for Approval to Produce Official ID (Business)		1	2.00	2.00	4.00	8			0
79.2(f)(2)(ii) (A)	Agreement to Send official Eartags to Specified Individuals (Business)		1	2.00	2.00	0.16	1			
79.2(f)(2)(ii) (B)	Monthly Report of Official Identification Devices Produced (Business)		5	12.00	60.00	2.00	120			
79.2(f)(2)(ii) (C)	Data Entry of Official ID Devices Produced (Business)		5	650.00	3,250.00	0.17	553			
79.2 (g)	Request for Approval of New Device Type (Business)		1	1.00	1.00	4.00	4			
79.4 (C)	Herd Owner Notification (State)		50	2.00	100.00	0.75	75			0
	SUBTOTAL		263.00		6,115.00		1,561	172,000		516,000

SCRAPIE FLOCK CERTIFICATION, ANIMAL IDENTIFICATION, AND INDEMNIFICATION PROCEDURES

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0579-0101

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

DATE PREPARED

IDENTIF	FICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
					REPORTS		RECORDS				
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
79.5	Permit for Movement of Restricted Animal (Business)	VS 1-27	25	1.00	25.00	1.00	25			0	
	State		5	1.00	5.00	1.00	5			0	
79.5		VS 17-140 or equivalent	27,500	5.50	151,250.00	0.75	113,438			0	
	State				0.00		0	50	500.00	25,000	
79.6	Consistent State Application (State)	VS 5-24	50	1.00	50.00	8.00	400			0	
79.2	Application for ID Numbers (Business)		17,700	1.00	17,700.00	0.08	1,416			0	
	State		2	750.00	1,500.00	0.20	300			0	
79.2 (b)	Application for Premises ID Numbers (Business)		16,100	1.00	16,100.00	0.17	2,737				
	State		2	684.00	1,368.00	0.20	274			0	
79.2 (b)	Recordkeeping, Identification (Business)				0.00		0	172,000	1.00	172,000	
	SUBTOTAL		61,384.00		187,998.00		118,594	172,050		197,000	

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

SCRAPIE FLOCK CERTIFICATION, ANIMAL IDENTIFICATION, AND INDEMNIFICATION

OMB NO. 0579-0101

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN						
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
54.2	Cooperative Agreement or Grant Workplan (State)		37	1.00	37.00	40.00	1,480			
	Not for Profit		2	1.00	2.00	40.00	80			
54.2	Cooperative Agreement or Grant Financial Plan (State)		37	1.00	37.00	10.00	370			0
	Not for Profit		2	1.00	2.00	10.00	20			0
54.2	Cooperative Agreement or Grant Quarterly Report (State)		37	4.00	148.00	2.00	296	37	8.00	296
	Not for Profit		2	4.00	8.00	2.00	16	2	8.00	16
54.2	MOU Forms - Family (State)		10	1.00	10.00	2.00	20			0
					0.00		0			
					0.00		0			0
					0.00		0			0
					0.00		0			0
	SUBTOTAL		90.00		207.00		2,282	39		312